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Calculate the answers and write the first 2 digits in the crossword.
Example; 2,300+2,300 = 4,600, so put 46 in the crossword.

Across Down
2. 2,455 + 7,329 = 1. 1,250 + 2,450 =
4. 1,999 + 2,588 = 2. 6,587 + 3,001 =
5. 4,488 + 2,877 = 3. 1,855 + 1,722 =
8. 2,325 + 4,174 = 6. 2,555 + 1,419 =
10. 1,478 + 3,399 = 7. 1,322 + 1,377 =
12. 2,333 + 1,977 = 9. 2,698 + 2,113 =
13. 6,658 + 6,040 = 10. 2,333 + 2,254 =
16. 4,897 + 4,276 = 11. 1,250 + 1,597 =

12. 1,654 + 1,551 =
14. 5,554 + 2,600 =
15. 8,547 + 5,997 =
17. 2,478 + 2,476 =



Answers




